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Question Number : 1 Question Id : 87519678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of the Indian super computer listed below. which one is the fastest?

Options:
, % PARAM 8000

> % PARAM 10000
5 « PARAM YUVAII
4 % PARAM YUVA

Question Number : 1 Question Id : 87519678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 2 Question Id : 87519679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify in the following list the first general purpose electronic computer.

Options:
1 v ENIAC

5 ® UNIVAC
= % ANALYTICAL ENGINE
4 % EDSAC

Question Number : 2 Question Id : 87519679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. v ENIAC
. % UNIVAC
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. = EDSAC



Question Number : 3 Question Id : 87519680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The second generation computers were based on:
Options:
. w silicon chips

- % Dio optics
3 o transistors
4 #% vacuum tubes

Question Number : 3 Question Id : 87519680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 87519681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following are the two components of the CPU of a computer?

Options:
1 % ALU and Bus

- % Registers and Main memory

= « Control unit and ALU
4 % Control unit and Bus

Question Number : 4 Question Id : 87519681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 87519682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Computer instructions written in English letters are called:
Options:

1 symbolic codes

5 #% INnemonics
5 w gray codes

4 ® Opcodes

Question Number : 5 Question Id : 87519682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 87519683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ALU of a computer contains a number of storage elements called:
Options:

, % semiconductor memory
5 o registers
= # hard disk

4 % magnetic disk

Question Number : 6 Question Id : 87519683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 87519684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following houses the CPU?

Options:

1 « Motherboard
> % PROM

= ® ALU

4 % Hard disk

Question Number : 7 Question Id : 87519684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 87519685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is a dedicated computer?
Options:
; w One that is used by a single person

o « One that is assigned a single task

5 » Uses only one kind of software

, % Usesonly system software

Question Number : 8 Question Id : 87519685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 87519686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Servers are computers that prm-‘ide resources to other computers connected to a:
Options:

, w» mainframe computer

- % Super computer

5  network
4 % client

Question Number : 9 Question Id : 87519686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 87519687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer system comprises of one of the following combinations of units:

Options:
, % Input. output and control units

- % input. output and control units plus storage
- % Iinput. output and storage

4 « input. output. CPU and storage

Question Number : 10 Question Id : 87519687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 87519688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is not true for primary storage?

Options:

, w Information must be transferred to primary storage

-  Itisapart of the processor

= It allows fast access to data

4 % Itismore expensive

Question Number : 11 Question Id : 87519688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 87519689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of memory is not directly addressable by CPU: it requires a piece of
software called EMS:

Options:
| expanded memory

> % extended memory
- % Dbase memory

4 % conventional memory

Question Number : 12 Question Id : 87519689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 87519690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A teletypewriter terminal is a/an:
Options:
, % Inputdevice

- % output device

3 « 1/O device
4 w storage device

Question Number : 13 Question Id : 87519690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 87519691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following inputs printed text?

Options:
1 « OCR

- ® MIC
5 #® Inouse
4 # Joystick

Question Number : 14 Question Id : 87519691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 87519692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an input device?

Options:

1 « WiFi

> % Game pad
= % Trackball

4 % MIDI keyboard

Question Number : 15 Question Id : 87519692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 16 Question Id : 87519693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The results of arithmetic or logical operations are stored in:

Options:
, % ROM

» % cache memory
- w Tregister

4 + accumulator

Question Number : 16 Question Id : 87519693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 87519694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Devices that receive data from the CPU are:
Options:

1 ® ALU

o  Output devices

- » signal devices

4 » digital devices

Question Number : 17 Question Id : 87519694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 87519695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Control programs. supervisory programs, system aids, service programs, and utility
programs together constitute:
Options:
1 % assembler

-~ % application programs
- % multiprocessing program
4  Operating system

Question Number : 18 Question Id : 87519695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 19 Question Id : 87519696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Shell is an exclusive feature of:
Options:

, = Aapplication software

> o UNIX

5 % System software

4, % multiprocessing program

Question Number : 19 Question Id : 87519696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 87519697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ubuntu. Mint and Fedora are versions of

Options:
. % MSDOS

> % Apple MACOSX
z % Windows 10
4 « Linux

Question Number : 20 Question Id : 87519697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 87519698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Memory protection is normally done by:

Options:

1 the processor and associated hardware
- % Operating system

o % USer program

4 % compiler

Question Number : 21 Question Id : 87519698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 87519699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is at the centre of the OS providing basic services to other parts of
0Ss?
Options:
, % Register

> « Kemel
z ® CMOS
4 W API

Question Number : 22 Question Id : 87519699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 23 Question Id : 875196100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS Word is;

Options:

1. an appllcmlnﬂ prograim
o % OpPe1l source software

- % public domain software

4 % shareware

Question Number : 23 Question Id : 875196100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 875196101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file starts the word processor MS Word?

Options:
1 « winword.exe

% word.exe

# msword.exe

e

% word2000.exe

Question Number : 24 Question Id : 875196101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 « winword.exe

- % word.exe
= % msword.exe
4 % word2000.exe

Question Number : 25 Question Id : 875196102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In how many ways an MS Word document can be saved?
Options:

1. % 3

o R

o

3 ¥

[ ]

4. %

Question Number : 25 Question Id : 875196102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

13.35
2%&4
3¢ 3

4 % 2

Question Number : 26 Question Id : 875196103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Background colour effects applied on a Word document is not visible in:

Options:

, % Web layout view

-~ % Printlayout view

- » Reading view

i Print preview

Question Number : 26 Question Id : 875196103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 875196104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one is the graphic solution of MS Word?

Options:
1 #% Word art

5 % Drop cap
- » Clipboard

4 « Clip art

Question Number : 27 Question Id : 875196104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 875196105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How much minimum space should be provided in Word document between two columns?

Options:
1 ® 0.5

oow 1
=z B 15
4.+ 0

Question Number : 28 Question Id : 875196105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 875196106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The maximum number of columns that can be inserted in a table in Word document is:
Options:

1 o 63

>~ % 05
z ® 15
EE 55

Question Number : 29 Question Id : 875196106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 875196107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pressing Ctrl+Z in a Word document means:

Options:
1 # redo the last action

> « undo the last action

5 % addanew page

4 » paste the content from Clipboard

Question Number : 30 Question Id : 875196107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 875196108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following belongs to a different type of application software?

Options:
, = Lotus_1-2-3

> « SPSS
%z % Visicalce

4 % MS Excel

Question Number : 31 Question Id : 875196108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| w @EH_1-2-3

> o SPSS

= % Visicalc

4 % UHATH-UFHS

Question Number : 32 Question Id : 875196109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The correct way of writing a cell address in a spreadsheet:

Options:
; % 155

> % 1.55
s % 21A
i A21

Question Number : 32 Question Id : 875196109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. % H85
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Question Number : 33 Question Id : 875196110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How many columns does a worksheet of Excel 2013 have?

Options:
, % 1048576

> % 1024
3 % 512
4 + 16384

Question Number : 33 Question Id : 875196110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » 1048576

, % 1024
s % 512
. v 16384

Question Number : 34 Question Id : 875196111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One characteristic of spreadsheet is that it has three types of entries. Those are:

Options:
1« numbers, formulas and labels

5 % data. words and numbers
5 % words. numbers and labels

4 % equations, data and numbers

Question Number : 34 Question Id : 875196111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 875196112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How is spreadsheet data organised?
Options:
, w Lines and Spaces

5 #® Spaces and Layers

- » Height and Width

4 « Rows and Columns

Question Number : 35 Question Id : 875196112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 875196113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In a spreadsheet. one function inside another is called:

Options:
1 ® Ssum

> % text
3 « nested
4 % round

Question Number : 36 Question Id : 875196113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 875196114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following keyboard shortcuts can be used for creating a chart from selected
cells of MS Excel?

Options:
1 « Fl11

> % F10
2 ® F4
4 % F2

Question Number : 37 Question Id : 875196114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 T
> % F10
z % F4
4 F2

Question Number : 38 Question Id : 875196115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which PowerPoint feature should be applied to create motion effects to different objects of
a slide?
Options:

, % Slide design
> # Slide transition

- % Animation objects

4 « Animation scheme

Question Number : 38 Question Id : 875196115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 875196116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Two kinds of sound effects files can be added to a PPT Presentation. They are:

Options:
1 « .wav files and .mid files

> w -wav files and .gif files
5 » -wav files and .jpg files

4 » Jpgfiles and .gif files

Question Number : 39 Question Id : 875196116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| Wav Bl 3T .mid w=e
5 % -wav Jrgel 3T .gif wrsa
.« Wwav WIS HIT jpg wEA
, % -pg WTES 3T _gif FrET

Question Number : 40 Question Id : 875196117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A computer on the Internet is identified by:

Options:
1 « IP address

- % E-mail address of the owner

5 % password

4 % Cryptographic code



Question Number : 40 Question Id : 875196117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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S_Qq-r\qa_é
4 % ThCerthe IS

Question Number : 41 Question Id : 875196118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A web page is located using:
Options:

1 % uniform record locator

> % umversal record locator
3 « uniform resource locator

4 % uniformly reachable links

Question Number : 41 Question Id : 875196118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FE 39 o0 e F F uF sugeT ¥ wlE gar 2
Options:
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Question Number : 42 Question Id : 875196119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should be minimum requirement for RAM for Internet access?

Options:
, % 16 MB

5 ¢ 32MB
5 % 8MB
4 % 64MB



Question Number : 42 Question Id : 875196119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STT THET & T F7 ¥ F7 Faa RAM &7 smSegsar g §7
Options:

, % 16 MB
- v 32 MB
- % 8 MB

. % 64 MB

Question Number : 43 Question Id : 875196120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following addresses changes temporarily as applications connect to the
Internet?

Options:

1 % Static IP addresses

-  Dynamic IP addresses
5 % Unique IP addresses

4 % Common name and number

Question Number : 43 Question Id : 875196120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e & & Fia @1 3w oaeeE & 3T ¥ 59 W HEE §9 ¥ o

T 272
Options:
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Question Number : 44 Question Id : 875196121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the Internet parlance. DNS stands for:

Options:
| % Dynamic Name System

5 of Domain Name System

5 » Distributed Name System



, » Divided Name System

Question Number : 44 Question Id : 875196121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Selae & TaYT H, DNS &7 Ade« gar &
Options:
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Question Number : 45 Question Id : 875196122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A shared network within an organisation to provide connectivity to its staff is:

Options:
1 # internet

> « infranet
5 % extranet
4 % delnet

Question Number : 45 Question Id : 875196122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 92T F M9 T H FATSCiaer 98 Fld F [oT U TS
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Options:

| % FEAE
2.@*"?@%
3@??@?-‘!3
4 % SO

Question Number : 46 Question Id : 875196123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TCE/IP are:

Options:

1 % network hardware

> % network software



z protocols

4 % file transfer programs

Question Number : 46 Question Id : 875196123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TCP/IP #4T 89 &

Options:

] CESED géam
by T t et
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Question Number : 47 Question Id : 875196124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The user downloads e-mails from:
Options:

1 ® IPserver

> « mail server
% % mail box

4 % Internet

Question Number : 47 Question Id : 875196124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ITATEAT AF H ¥ FEE -39 SIE3AdE F:ld 27

Options:
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Question Number : 48 Question Id : 875196125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one is the correct way of writing an e-mail address?
Options:

» dkmehta@deepsea.edu

1
. w» dkmehta@deepsea@.edu



z % www.dkmehta.edu

, » dkmehta.deepsea.edu

Question Number : 48 Question Id : 875196125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S-Be U3 H @ F1 T aie @ F @ FiF @ 272

Options:
, « dkmehta@deepsea.edu

. » dkmehta@deepsea@.edu

= # www.dkmehta.edu

, » dkmehta.deepsea.edu

Question Number : 49 Question Id : 875196126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the e-mail address kfc(@solu.edu. kfc is the:

Options:
, = Ppassword

5 % Server name
3 o USer name
4 % domain name

Question Number : 49 Question Id : 875196126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S-AT TSH kfc@solu.edu & kfc T &
Options:

1_$$q1-'\qa_é

o 'H'ch'ﬁl'ﬂm

L
5 v 3TIRTRAT & ATH

4 % STH & ATH

Question Number : 50 Question Id : 875196127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol deals with e-mails?

Options:
. % FTP

5 « SMTP
5 % LPD



4 #® X-Window

Question Number : 50 Question Id : 875196127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A & for e & @ 9 @1 SIesa FH Far 87

Options:

, % FTP
>« SMTP
; « LPD

g4 ® X—ﬁ?ﬁ'

Question Number : 51 Question Id : 875196128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Unsolicited commercial messages one discovers in the e-mail box are called:

Options:

1 ® VIruses
o % WOIms
5 # cookies

4 Sham

Question Number : 51 Question Id : 875196128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S-AT gieF H FHaa I FaEog aifvifeas ggert #+r el AT 2
Options:
1 ® draiyH
% I
ETE

I
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Question Number : 52 Question Id : 875196129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What does JPEG stand for?
Options:

, % Joint Photo Experts Group

-  Joint Photographic Experts Group
- % Joint Photogenic Experts Group

4 % Joint Photo Directed Experts Group



Question Number : 52 Question Id : 875196129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Options:
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READING COMPREHEMSION

Section Id :
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Section type:
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Number of Questions to be attempted:
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Display Number Panel:

Group All Questions:
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Question Shuffling Allowed :

Question Id : 875196130 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Cuesticon Label | Comprehension

8751968

2

Online
Mandatory
1

1
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Yes

No
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8751968
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Read the following passage carefully and answer the questions that follow:

The high priest of Rameswaram temple, Pakshi Lakshmana Sastry,

was a very close friend of my father’s. One of the most vivid memories

of my early childhood is of the two men, each in his traditional attire.
discussing spiritual matters. When I was old enough to ask questions. I
asked my father about the relevance of prayer. My father told me there

was nothing mysterious about prayer. Rather. prayer made possible a
comumunion of the spirit between people. “When you pray,” he said,

“you transcend your body and become a part of the cosmos, which

knows no division of wealth. age, caste. or creed.”

My father could convey complex spiritual concepts in very simple. down to-earth
Tamil. He once told me. “In his own time, in his own place, in what

he really is. and in the stage he has reached—good or bad—every human
being is a specific element within the whole of the manifest divine Being. So
why be afraid of difficulties. sufferings and problems? When troubles come.
try to understand the relevance of your sufferings. Adversity always presents
opportunities for introspection.”

Sub questions

Question Number : 53 Question Id : 875196131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was a very close friend of Pakshi Lakshamana?

Options:
1 # Author

> « Author's Father
= % Author's Uncle

4 » Author's Nephew

Question Number : 54 Question Id : 875196132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1|1f' . . % i 1l - : - iea s - . - ;
ou transcend your body and become a part of cosmos". This line is said in relevance to:

Options:
, % religion

~ % caste

- u people

prayer

S

4.

Question Number : 55 Question Id : 875196133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage. which one does not know the division of wealth. age or caste?

Options:



i spirit
5 % COSINOS
3 % attire

4  body

Question Number : 56 Question Id : 875196134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following presents opportunities for introspection?

Options:

1 % examinations

> # losses

= « unfavourable situations

4 % Spiritual concepts

Question Number : 57 Question Id : 875196135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following words from the passage is closest to the meaning of word 'exceed'?
Options:

1 % relevance

- % Introspection

5 « transcend

4 % Opportunities

Question Id : 875196130 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 875196131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T # O FiF v FJ87907 F 38 F7T 97

Options:

| % oIE&

2 NGH & R
= # @ o =TT
4 % OIEH W AT

Question Number : 54 Question Id : 875196132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"TH IS RN H I FEAUS F FEAT a9 1A & TE FAS ohah Hegsl A
el T 87

Options:
1. % ﬂ?fr
> % S



z % CIE
4« QTUAT

Question Number : 55 Question Id : 875196133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT F FFAR, oot H T 7 aF, 99, og 7Y A ST FE FIAT?

Options:
1, % STcHA

B 1 ag'ﬂlng
TS
T & o

4 o T

Question Number : 56 Question Id : 875196134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

B F S5 WA F 39Uy YOI FIET &7

Options:
| % TYEI

2.ﬂaﬁnﬁ
. v Rada oRfeuf

4 % HTEHTCHE URUTT

Question Number : 57 Question Id : 875196135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT H HIAAT g "HET Fererd” &7 3T §?

Options:

1 % Ho ct

o % HICHIYOT

3 v HIIA

4 W HIHT

OUANTITATIVE AFPTITULE

Section Id : 8751969
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questions to be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 8751969
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 875196136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 23%1 — 28 = 16, then a=?
Options:

1.+ 4
> % 3
5 % 2
4 % 1

Question Number : 58 Question Id : 875196136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afg 23t — 22 = 16, ar a=?
Options:

1. v 4

> ® 3

3 % 2

4 % 1

Question Number : 59 Question Id : 875196137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the value of (16) 7
Options:

1 % 0

> #® 8

=z o 1/8

4 % 16

Question Number : 59 Question Id : 875196137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(16) 74 @1 | 71T HHaT]

Options:

1_%-3[:'
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Question Number : 60 Question Id : 875196138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The 25™ term of an AP is 21 more than 11 term of the AP. What is the value of the
commeon difference?

Options:

J ® 2

o % 4

2 o 3/2

4 % 5/4

Question Number : 60 Question Id : 875196138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U AR Aol FT 2537 9T, FAET AT F 119 9 ¥ 21 #4f0F §| @
AR AT 7 82

Options:

1 % 2

o> R 4

ol B2

4 % 5/4

Question Number : 61 Question Id : 875196139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
- g : 2
For what value of n will the equation have roots inverse of each other: 2x~+x-n=0?

Options:
1. % 35

[ ]

o o
3 ®

LIV

4 %

Question Number : 61 Question Id : 875196139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
n & 8 A7 F T Tl F qF TH-gE F FoFA H N 2 +x+n=0?

Options:

1%-55




2« 2
3 % 4
4 % 3

Question Number : 62 Question Id : 875196140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If AABC ~ APQR. If AB = 2PQ If the area of AABC = 144 cm?, then find area of APQR.

Options:
1 % 72cm?

> % 84 cm?
= % 144 cn?
4 & 36 cm?

Question Number : 62 Question Id : 875196140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g AABC ~ APQR, Tam AB = 2PQ Jar AABC =T &i9%« = 144 THT
g, ar APQR & &i9%d Ad HIaT|

Options:
1 ® T2 sz

> B 84 sz
= B 144 sz

4« 36cm?

Question Number : 63 Question Id : 875196141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alkash. whose height is 5 ft. is observing a building of height 55 ft. The angle of elevation

for Akash to the top of the building is 45°. How far is he standing from the building (in
ft)?

Options:

1 ® 75

o o 50

z % 100

4 ® 125

Question Number : 63 Question Id : 875196141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 ® ?5
oo 50
2 % 100
4 % 125
GEMERAL MEMNTAL ABILITY AMND EEASONIMNG
Section Id: 87519610
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 87519610
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 875196142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MLKY : NOPQ :: IHGF : ?
Options:

1 ® UTSR

5 o RSTL
s % SRTU
4 % UTRS

Question Number : 64 Question Id : 875196142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
MLKJ : NOPQ :: IHGF : ?

Options:

. % UTSR
. v RSTU
2 # SRTU



. # UTRS

Question Number : 65 Question Id : 875196143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the one which is different from other three.
Options:

1 % Mars

> % Jupiter
- % Earth
4 « Comet

Question Number : 65 Question Id : 875196143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

UF FT II7 FL 3T a1 OF § & 20

Options:
1. % HITC

, % eI
gwiﬁ
THGT

4. LY " 2

Question Number : 66 Question Id : 875196144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
78, 86, ...., 88,82, 90

Options:
1 ® 76

2 ® 83

4 + 80

Question Number : 66 Question Id : 875196144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
78, 86, ... 88, 82, 90
Options:

1 = 716
> % 84
2 # 83
4 « 80



Question Number : 67 Question Id : 875196145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

M is the son of P. Q 1s the grand-daughter of O who is the husband of P. How is O related
to M?

Options:

1 ® Son

> # Mother

o # Daughter

4 « Father

Question Number : 67 Question Id : 875196145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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&7

Options:

1 & 2

o ® HIdl

T ® 2

4JfE|T-IT

Question Number : 68 Question Id : 875196146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ram walked 6 m toward left. He then turned left and moved 8§ m and then he turned left
and walked 4 m. He turned left and walked 8 m again. How far is he from his starting
point?

Options:

1 % 8m

- % 4m
= % 6m
4 ¢ 2m

Question Number : 68 Question Id : 875196146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® 8 m
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Question Number : 69 Question Id : 875196147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following pie-chart carefully to answer the below given question.

TOTAL EXPENDITURE: Rs 60 lacs

Medical
facility for
student
7%
Research RURCh— .
- overhead projectors for
Ph D classes

)
L 24%

Psychology
laboratory
10%
Publication of
journals
15%
Computer D o
T;:ﬂtm}' books for
Sports library
12% 6%

Expenditure of funds by a university for various purposes

What is the total sum of expenditures on Research work. Purchase of overhead
projectors for ph D classes and purchase of books for library together?

Options:
; % Rs22.6 lacs

> « Rs 22.8 lacs
z % Rs23.4lacs
4 % Rs 20.8 lacs

Question Number : 69 Question Id : 875196147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Id : 87519611
Section Number : 5

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questions to be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 87519611
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 875196148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was ASEAN-India Summit 2015 held?
Options:

,  Kuala Lumpur

o w Taipei
- » Tokyo

4 % New Delhi

Question Number : 70 Question Id : 875196148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

uiraTa-2tEar affe 2015 T AT g ohar I/ ar ar?

Options:
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5 ® SRl

L« 7 R

Question Number : 71 Question Id : 875196149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TAPI Pipeline will connect which four countries?
Options:
, w Turkey-Azerbaijan-Pakistan-India

> u Turkey-Afghanistan-Pakistan-India
- % lurkmenistan-Azerbaijan-Pakistan-India

4  Turkmenistan-Afghanistan-Pakistan-India

Question Number : 71 Question Id : 875196149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 875196150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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By 2018, The government is planning to connect India via a Trilateral Highway Project
with:

Options:

|« Myanmar and Thailand

-~ » Pakistan and Aghanistan
- % Srilanka and Bangladesh

4 % Afghanistan and Turkmenistan
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BrahMos can fly at a supersonic speed of:

Options:
1 # 1.5 Mach

> « 2.8 Mach
=z % 4.75 Mach

4 % 2.5 Mach
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The 68th UN General Assembly declared 2016 as:

Options:
1 « International Year of Pulses

- » International Year of Light

- # International Year of Soils

4 » International Year of Light based Technology
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PM Modi released digitally restored recordings of epic

Options:
1 « Ramcharitmanas

5 % Barvai Ramayan

5 » vinay Patrika

4 % Krishna Gitavali
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The government should move to a rational way to tax savings in the coming Budget to encourage Indians to
save intelligently. Reform is warranted to break away from the piecemeal approach to tax treatment of savings
now in vogue, The Public Provident Fund is tax exempt at all three stages of contribution, accurmulation and
withdrawsal, whereas subscribers to the MNatiornal Pension Systerm pay tax at maturity. A rational approach to
the tax treatment of savings is the one that was proposed in the original Direct Taxes Code. Specify a
reasonable amount of savings that is exermnpt from taxation of current income. Whether these savings are
deployed in short- or long term assets should not matter. Exernpt the contribution, exermnpt the accurmulation,
and tax the withdrawal at the normal incorme-tax rate. In this systemm, called exernpt-exempt-tax, or EET, tax
should be charged only on the part of the income used for consumption. If at the maturity of a saving asset,
the accurmulated savings were to be reinvested in another savings scheme, the corpus would be exernpt from
tax. The EET method will remove artificial distortions, and raise efficiency and equity in the tax systerr,
helping the government raise more revenues. It will not discourage people from churning their portfolio:
reinvested gains will not attract tasx. This will lead to innovative saving products being offered to savers and do
away with the need for the government to bear the burden of, say, needless above-market interest on deposits
in the Public Provident Fund, so as to offer ordinary savers a reliable avenue for long-term savings. The UPA
government, which had criginally proposed transiticn to the EET systerr, abandoned it citing adrinistrative
and technological challeniges. Of course, existing saving schemes would need to be grandfathered, and allowed
to wind dowr without accepting fresh deployments. All future savings should be under the rubric of EET.
India has the software and administrative prowess to address the challenges in managing such a systerrl. What
is required is political will and courage. Because of the lower cap on savings, linked tax exermnption, a large
portion of savings are already taxed in the vear itself. If these were to be taxed again at the tirme of withdrawal,
this will be improper. The EET could be in a phased manner with specific schermes designed for the same and
full savings being offered exemption in the vear of contribution, could be an approach to transition.
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